Parameter

Definition Fit result

fu |49,/ (|, 12 + | AD, 2 + | AL, %) 0.74570088 10 034
fi |ABo 2/ (|AD 12 + |AL?) 0.50 & 0.09 = 0.05
5 — o arg(Ab,4%) 1.84+0.20 +0.14
Fy(am)o | Ap(amyo 2/ ([AS 12 + AR [2 + 1AL, 1) 0.30 03 4008
Fpf(9s0) |4, p(080) |2/ (140,12 + [A, |2 + | AL, 2) 0.29 T5:02 +£0.08
Flam)o(rm)o | Ammyo(rmyo |2/ ([AS[2 + [AB[2 + |AL,[2) 0.21 £90¢ +0.08
81— Op(n)o arg(Aj, A% ) —-1.13 1035 +0.24
0L = 0,5(980) arg(A;,A% ¢ os0) 1.92+0.24 +0.16

O(m)o(xm)o — 00

Arg(Arm)y (rm)e A%) 3.14 703 +0.39

F (A% + [AJ 2 + AL 1) /(A0 1 + [ALI? + AL 0.02570535 +0.020
|49, 2/ (|A%, 2 + | Abul? + |AL %) 0.70 T2 +0.13
i A2/ (| AJ|? + | AL, 2) 0.97 *§S3 +0.15
58 — o arg(A9,A%) —2.56 578 +0.22
5 — b arg( A, A%%) —0.71 £ +0.32
84 = 8 p(rm)o arg (A, Ay n),) —1.72£2.62+0.80
Fo, A2, 12/(1 A0, + [AD,% + |AL1?) 0.01 *503 £0.03
005, = Op(amo arg(A)p A% ) —0.56 & 1.48 + 0.80

S |AST2/(1 A0, 1% + AL 12 + |AL %) IR

BN arg(AS| A% ) —0.09 *930 1+ 0.38




